B HSSC Blacksmith 1_2020 Cat 22 (18.8.2021)

Paper

- ' - i fapad srqaee B 7
1. Howmmany sub-divisions are there in ‘/ FaaHE | gframom | EGEREE L) -
Harydna at present ” / &5 18 B) 77
(A) «33 (B) 77 . iy
(C) 25 (D) 70 () 75 ) 1
pr ‘ , : -
9 Find out the wrong number in the g & saen # e TEn a0
following series. ]
S Rt TN M 3 1 Y 1 ‘
4 9 16 25 25 39
4 9 16 25 39 { 911(; 25 :
1 1 A) B -
pes B) 3o @A) - 39
) 25 &) 39 25 ]
1 1
(C) E ) — ©) - (D) 16
4 16 A
8. is a chemical compound of carbon / e & a1 e ?m
with iron and is known as iron carbide. N 2 3 ﬁﬁ AT $|ﬂi$3 ;
ST 21 o _
(A) Pearlite (B) Cementite A) qefier (BY fotieTee -
(C') Ferrite (D) Austenite ((‘)@?1'133 (D) HATEATEE
9
A. WhichMition g P § @S- aong =0 e
of Banabhatta ? A) T "
(A) Sur Saga;‘G ’ ®
(B) I(S}hag:vz; ee an i :
(C) Geetha Ramaya ¢ {HTE
(D) Harshacharita (D) TN
5. “National Doctors Day” is celebrates ;/_ T@aﬁﬁﬁqﬁﬁﬁaﬂ yfgad 19919
every year since 1991 on by F1 AT A vEifauE (IMA) BT 2
Indian Medical Association (IMA). @) /22 i
nd "
(A) September 22 e
01 R g
e iuly ¢ 220 (C) 22 3T
(C) August = .
(D) None of the above (D) 3 A g s T8
iation of the data atFS 2,9, 9, 3, 6,9, 4 AL W HEA
The mean deviation o / :
6. 29093694 from the mean is % faraem 2 ff-".'-(\'
(A) 257 B) 1.5 \(A) 2.57 B) 1.5 | ~
D -2-
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7. The iz the ‘master fﬂldl"'. o / Mo, farefi feen m ‘HEA west 8l
any disk. (A) &2 Blezt
(A) Root folder (B) FIEet 3TATHIH Tae (T
(B) File Allocation Table (FAT) (C) FeTE -~
(C) Cluster ‘-.\ -
(D) Data area (D) HATHST &

8. district 1s the largest produCEf | % SRR E&l T q “ﬂ. F1 a9 €]
of wheat in Harvana. Eice A : \ )
(A) Kaithal (B) Sirsa (A) FIe (By T *
(C) Jind (D) Bhiwani ) fre (D) forarh

9. BDF:HIL::MOQ:? 9/ BDF:HIL::MOQ:? )
(A) SUZ (B) TUX (A) SUZ (BY TUX
(C) TVX (D) VTX (C) TVX (D) VTX

10. Which number will come in the place of }( yi-fag ERDIC] T HH-dl e Wﬁ 7

question mark ?

NEB... 4

by -

(A) 8 (B) 9 (A) 8 (B) 9
(C) 5 (D) 6 (©) 5 _ (D) 6

11. Hampiwas declared as a World ’ age | 1L gﬁ'@hﬁ g =i i fava e T9e % €9 e
site by UNESCO in & NN e e ?
(A) 1980 (B) 19 (A) 1980 wﬁ
(C) 1985 (D) 195 () 1985 D) 1975

12. The is called the brain of the ¥. &l 3‘11?1 &1 feum =& S &
computer. (A) W gﬁz Vo -
(A) Control Unit ®) A [vA
(B) Arithmetic Logic Unit TS gl e '\ 5 )
(C) Input Unit ©) Wgﬁz Y
(D) Central Processing Unit (D Tz shafm afie

13. Haryana State celebrates ‘Martyrdom 13, =fEmon = wiead 23&'@—(3'% yree feam
Day’ on 23" September in the memory of ey ot R 7

(A) Raja Nahar Singh (A) T T Ty
(B) Bahadur Shah (B) E{Wm : f
(C) Rao Tula Ram M) T gy j
(D) Nur Muhammad Khan (D) T e a@H

-3-
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15.

16.

17.

18,

19.

20.

In 8 certain oode 271 mean: spread the

carpet 254 means dust the « irpet’ and
234 means roll the carpet What digi in
t he «

(A) 4
) 2

dust "’
(B) 5
(D) 3

wie means

The value of greatest integer [x] for
2<x<3 1

(A) 3 (B) 2.5
In forging. the metal 1s never

completely enclosed or confined on all
sides,

(A) Open dae

(') Impression die

(B) Closed die
(1) All of these

The mamn presence of Aravalli hills 1s

found in the district of Harvana,

() i ma Nag
() Ambals D) Rohta»™

Which of the following organ’

releases the Emssions Ga

(A) World Bank

(B) The United Natwons Environmeny
Programme (UNEP)

((") Food and Agriculture Organizatio
(FAO)

(D) None of the above

‘A;ﬂ

“port ¥

Which of the following does not —
electrical power in a circust ? n

2

: (5 =
W Vi )R

__ computers are m

P aip
in an orgamization where ly used

: Cn
ynstalled 1n various dep“rtm:‘[’utern
lnwrcunnf-cu-d, Nty oy
(A) Micro (B) Mi;

NS )) Ma
(") Super (1 ke
fr""‘l;_.

1/2020 (22)

, Yz F AFA
V. ﬁrqﬂ:':ﬂi_. on4 F1 HACH ? dust the

‘ thl, _: |' :ﬂ'-' _’.iiﬂq;{m’ roll the carpet
;;:;;Tgi:lf#ﬁ ¥ F1 TA dust ?
(A) 4 (W 5
;i'l ) (I 3

A 2. « < 3 % fero meem it (x] FAE R

, (A) 4 (B 25

() 2' (I 0

T ~ ifstn |, wiq @ oft g w @
A2 1 A ATF # 92 TE a1
(A) 3T 21 (R) FAree 218
() 3UvH 2 (D) 3 @i

Ax v e d swaed oda g
A fE |
(A) =TT (B) AR
) AN (1)) Ugd®H

Mﬁmﬁam-mmmmm
it w7
(A) fava 3= A
(B) FH T, A Frwn (quadd) /
(C) e Ud F wEA (THu)
(D) 39 § A #1278

) Fretfefia i @ #-m v e § fa
nfmA o
(A) I'R (B IR’

ré
() VI | ™)
¢ e TR A ff) vz A

a4 92 #a #
(A) WTEH
(C) gm

) fafy
(D) 99 %y

v
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26.

27.

Who built the Qurajkund laken l“m’uinhm’l

district of Haryana
(A) Raga Sura) Pal

(B) Raja Gurdit Singh
(C) Raja Sira) Dev

(D) Raja Nahar Singh

- Birds ¢ Cardiology Y

(B) Lungs

Ornithology

(A) Kidney
(C) Heart (D) Bramn
L‘onstamumplv in
(B) 1498

(D) 1530

The Turks occupied
(A) 1453
(C) 1526

is the process of increasing

E——
the cross-section at expense of the length

of the work piece.
(A) Cutting
(C) Drawing

B) Bending
down (1)) Upsetting

Which of the follow ing distric ts of Hi arya”
ha- the highest area under forest«”
s per the 2011 Forest GQurvey of a2
(:\i Fatehabad (B) (uul;y'
(C) Pampat (D) Pai

il

kula

imbledon C hampmnship
Single category

Who won the W
title 2021 in the Men's
(A) Roger Federer

(B) Matteo Berrettini
(C) Novak Djokovie
(D) None of the above

The book written by Aung San Suu Kyl

(A) Freedom from Fear

(B) Republic

(C) A Long walk to Freedom
(D) Freedom

ITFALFALR T

M. el 4 el faren 1 afr g e s fad
EEIR I
(A) LI e
b o pdea fe
() et A
(1) wan Ae fae

98  quffagm ; qah o wEA forana )
(A fagd (1) T o
(" wan (1) wfeams

23. gf}mt:dﬁ:mm qr e fer 7
(AY 1163 (1%) 1498

(1) 1630

(" 1H26

ivﬁﬂﬁrvr«lriﬁaﬁmm

| A
95. 2011 % WA & adam & sEn e
1 aa'iam-mfamua’fﬁﬁ areaiiaa B f/

(A) FAETAE
() T (py T

/4 e e A # ez Afaaf 2021 A
St ¢
(A) T HET
(B Afen ared
() AT AT
(D) 3 § A 1§ T
m,_.mﬁﬁmfaﬁuaqmt
() shrem i v
(B) frafee
() v efn A g Fren
(D) $ren

Do
wnloaded from www.cclchapter.com
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Brass is an alloy of

28.

(A) Copper and tin

(B) Copper and zinc

(C) Copper and lead

(D) Copper and aluminium

29. Which among the
crop of Haryana ?
(A) Mustard (B) Jute
(C) Maize (D) Cotton
30. The Nobel Prize in Physiology or Me »dicine

2019 was awarded jointly to William G.
Kaelin Jr, Sir Peter J. Ratcliffe and Gregg

L. Semenza for their discoveries of
(A) How cells sense and adapt to
oxygen availability
(B) Molecular mechanisms controlling
the circadian rhythim
(C) Cancer therapy by mhlblt! M of
negative immune regulation

(D) None of the above

31. is the latest ¢ cal storage
media to store high definiuion audio and
video.

(A) Digital Versatile Disk - R
(B) Digital Versatile Disk - RW
(C) Blue Ray Disk
(D) None of these

32.

Forest Department of Haryang
Pheasant Breeding Center in o

(A) Panchkula
(B) Pinjore

(C) Kurukshetra
(D) Bhiwani

llowing is not a Kharif

1/2020 (22)

1 fﬂ")‘*ﬂﬁ, 2l
{:\) Fﬂm 3:.%'7 m \
() e s T
;6 qgﬂq—ﬁmﬂﬁmm
e -
(A) HTFIT (B) 92
() TEH (1) TR

o Farferean § e TR, 2019

7 g—gaa*@‘qﬁﬁf?m“@ﬁ Ffem g, m iz
5 tefaers 3 I UE. Fiisn F1 3% F9
% foru e e 7
mﬁﬁm%mﬁmm
wﬂ?ﬂ%aﬂwﬁmmﬁ%

B)u&a%mﬁznmﬁaﬁamm
arTfoes 44

A(C) Yifea s Tgeree & e g

=z

&)

(D) 3§ & 18 T

e srfe s e
) sitf 7 ¥ for Fefieam spifeeeher e
e H |
(A)%ﬁﬁma%ﬁ_m |,
FHeRS fow - mmi
) s fewn
(D) 38 & %1 7

2. EREN T fem
Tmél
. REE TSI
(B) fisir

(©) Foer
(D) Trarh

= 0y
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33.

34.

35.

36.

37.

38.

39.

If A and B 2 non-empty sets then
AN(AUB) =
(A) A
© &

(B) B
(D) AnB
is a general-purpose application
software used to create documents.
(A) Spreadsheet packages
(B) Word processor
(C) Presentation tools

(D) None of these

Asia’s biggest garden in Haryana denoted
to rare and endangered species of cactus
and succulents is located in

(A) Sonipat (B) Mewat
(C) Panchkula (D) Yamuna Nagar

1/2020 (22)

:‘W/qﬁAafnnzﬂv—ﬁaaw%ﬁ

Af |(k.)l3) =
(&) A (B) B
(C) ¢ (D) ArB
4 UF GHTE-3290 ATl UfeAHIA

o s 2

(A) Freviiz T
- \B) TE e

(C) IEEIH Zod

(D) =98 & 18 T8

36, ATEA 3i wer gai Hi fare i TR
wenfedi % foro wuffa vfern 1 @=@ =

afferefmmon s dfem
(A) T (B) HaTd
@YW (D) ag

r 4

Which two consecutive months in a year
have same number of davs ?
(A) February, March

(B) August, September

(C) June, July

(D) July, August

is a main forging operation used
for producing hole in metal plate by using
a tool.
(A) Forge welding
(C) Cutting

(B) Punching
(D) Bending

Which among the folk dances of Haryana
is the Ancient dance form ?

(A) Khoria (B) Dhamal
(C) Ghoomar (D) Saang

Where is India’s 1* Labour Movement
Museum located ?

(A) Alappuzha, Kerala

(B) Ranchi, Jharkhand

(C) Bangalore, Karnataka

(D) None of the above

-

A

98 wmﬁﬁmﬁm

(A) =, O

(B) 37T, fader ) A |
__(©) 5H, o |
Oy e, T

U T Bife ATHEH & e
m@mmmmﬂ@ﬁ
4 ¥ w1 % foru forn s
(D)ﬁf%ﬂ \\ e

(A) BT afeem
(C) wfem
A8, =l A F-m e =
(A) @ifn
(C) g (D) T
F B HH IRIH GUEe el fea ® 7
A) AT, FTA
(B) T+, s
(C) Shrep, etz
(D) 379 & & % 7

h

o

3
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40.

6, 36, 216,

(A) 481176 (B) 17892
() 16656 (D) 47706

41. N, CO and NO' have bond order equal t
A) 2 (B) 8
(C) 4 (D) 5

42. Blection for Gram Panchayat is
conducted by
(A) Central Election Commission
(B) State Election Commission
() State Government
(D) Union Government

43. In a group of cows and hens, the number
of legs are 14 more than twice the numbe
of heads. The number of cows are
(A) 10 B 12
©) 5 ;7

44. An consist of . son movable
rods divided into two parts.
(A) Napier’s logs and bones
(B) Abacus
(C) Pascaline
(D) Jacquard's loom

45. Which of the following National Highways
that pass through Haryana, connects
Delhi and Fazilka in Punjah ?
(A) NH 10 (B) NH 8
(C) NH 2 (D) NH 65

46. In whicllfn of the‘ following place Haldia
port is situated ?
(A) Gujarat
(B) West Bengal
(C) Goa
(D) None of the above

D

What will be the 6" term of the serjeg 9

1/2020 (22)

&1 % 0% FNFEEN ¢

I ')l{,
L J-]r'” ‘. ,i; A
A%
/4 ‘ ,-I;'J l"_'f.‘ll’-i
]lrf ) -
: T (D) ATI06
(7 aue 4
oo NOH A aA 3, A1 ¥
A ) (KB 4
{}\'] .; (1)) D
(L)

g oara & 17 AR e

fapn A4 2 .

(A) A2 A AT

() T AT AT

()T TFN

(D)) w2 TN

¥ W’quﬁfﬁi#.qq‘:tﬁfnﬁﬁmq

¥ €1 T g A 14 i #1 T A
qe #

1 (A) 10

sy v A e Teme 2
W affe A e A Al 2

(B) 12

(A) AT & a3 J |

{ srra (A )
(C) ITE=heA A §
(D) AFaTE =1

Fetferfiad & 1 - e T wfer
i abiboblbl
(X) NH 10

(B) NH 8
(C) NH 2

(D) NH 65
6. Twaferfian 4 4 e wam w el R 1
(A) | '
) ufvam amre _
(C) T

(D) 3% | | #18 781

e
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s o W0 N VW0 W ehan & vy fm o s st STEIEH
- . el ¥ ; L T AT SIE BE AR AR L M fem o ¢
\ ‘ (A) T ST O N\
0D Neks R ' N . NTUR ;. ARSLRILL
() Chaudhary Lal Chand W) ol e «e
' n A L (N a1
W My MK MR whvich W & Dheay M- HEMRS, S o @ A @
\ - R oy qg *n @
\) ¢ te of ISRV (1) ISRO 1 WER J9Ie
¢ Niaaile of DRDO Q0 RO @ CERIES
) AR ht Heboopter of HA () 1AL ® IH B S E QA
N A - (O T A @ ad
\ is standing at 1 He walks 10 .._,..m-..l\ 0.\ p«m ww ) ag o H TE 10 i

wy A \ with then \ » |
i ¢ walks 20w mMm 1 2 nm’mtmnﬁmm% fo=

WA A the west then he walks 10 m\ mw m
oW mis the =outh, then he walks 20 m m t ﬁi * W
. y R o e ) e e

powarde the cast then he w alk«
owards the - : MW as ud 1 p af) %1 12
‘ afft  a& uda S e P AR ¥ | |1
the st l-h.l‘.‘li-' TN Wl i. ‘) i - "
n ety aiﬂ‘ﬁ \“t“ W'ﬂt ' \\
\"
A 9 m ™ Gw W\ Y | A (B G {1
W) 1hm M S (L 15 WA (D 8§ iR

he Amendment which reduced voung §0. av EENE IECERGME & qy 21 a 18 5
1 to 18 A ~

() ooal gama

B c1al g

(W) o2at gom

(M 2181 genva

age from 2
(A 62 Amendment
(B) 61" Amendment
() 92 Amendment

(M 21* Amendment

RIS EOE I L

Napier s Bones was used to perform

(A) Multphcation and division T 0
(B Addiaon and muluphcation ) <
(M Addinion and subtraction w ith carry @ e ol oo
transfor cap: ability d
e . i
on, substraction, muluphcation () ¥R TTE e % | arg o v

(I Addatn
and division

() g, wera, mom 3 s

9
D
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52.

53.

54.

55.

56.

57.

58.

Delhi-Mumbai Industrial Corridor wil]

pass through States.
(A) 10 (B) 3
() 6 (D) 8

What was the theme of the International

Day of Co-operatives celebrated on

July 03, 2021 ?

(A) Coops 4 Decent Work

(B) Sustainable societies through
Co-operation

(C) Rebuild better together

(D) None of the above

The least number added to 78964, make
it divisible by 7 is

p

o

(A) 5 (B) 3

(C) 6 (D) 4

Which is the physical hazard ? T,;;J
(A) Smoking (B) Vibration

(C) Corrosive W (-

Name the districtof Haryanav  ,isthe

birth place of famous Hindus Classical
Musician Pandit Jasraj.
(A) Hisar (B) Bhiwani

(C) Faridahad (D) Ambala

as an antiseptic which is so]d
in the market as perhydrol.

(A) Hydrogen peroxide
(B) Isopropyl alcohol
(C) lodine

(D) None of these

Revolt of 1857 against the British Gy,
was first began at
(A) Ambala

(B) Mahendragarh
(C) Hisar

(D) Rohtak

Thment
- Haryanu

=10-

56.

j(%\v/ ® frt

%W%mﬁwm?i ;
"y
| F&

5.

112020 (22)

vt FiEn @ T g
' 3 /[ 72

o e L o

03 T8, 2021 1 TAT0 T HATH g

frarg o faed AE FA ?

(A) Coops 4 Decent Work

() TEAm F T A

(Y T ARE H

() 3 ° @ FIE T
mt)fymsn%‘l?rmawﬁ:wnm R
q‘;{a\m'ﬂamal > //,/’—
A AT 3 £ )
fE}) 6 (D) 4
ffF @A FE-A e 7

(A) FITH M‘ﬂ

(C) AT () Tfzamfaza
zfrmon & 3@ oA &1 A8 T4, w1 ufEg
fégart st wiffast Afeq ST 1 FH

o

!D;EF{GTF’IT
uﬂaﬁaammn

(C) HitarEme

(B) STEETITITEA HeHETA \ >
() HETEA
(D) 30 @ 1§ AE
3 Feg 1857 1 farzTe F8 T

EZ 1 g1
(A) &t -
(B) UPZNE [ )
() feanm ' /
(D) TEa®
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59.

60.

61.

63.

64.

1/2020 (22)

)

\)

i 1 1 ; ! ]
A non-ferrous mineral does not I::ﬁ:-[r 5" THaeeEEE qﬁﬂmq@:{lﬁm
iy but may contain Some¢ '* 7 T ¥ A, =i, e o een & s )
metals such as gold, silver, copPt i : \ N\
lead. ; A SIG (B) & \J\
(A) Iron (B) Diamont s D) S
(C) Soil (D) Water ,a( P .
Harvana State Institute of Film and . et o frew siv 2fafas geam —
Television 1s situated at feora 2 | / \ \
(A) Murthal (B) Rohtak (A) qIe T i
(C) Manesar (D) Jassaur (C) HHE (D) ST
A bag contains lemon flavoured candies ,B‘f T A1 | FAA ﬂiqé o AT Bl B "ﬁL'aTl
only. Manju takes out one candy without . . £ 9 o 3
looking into the bag. What is the 4 for 2@ 0 &1 )
probability that she takes out an orange FaE ot Ferat areft 21 e 7
flavoured candy ?
AR B

(A) O ( \1
B) 1 ?j

1 w o
(C) 3 () 2
(D) can't be determined /D) Fuffa =& # g
Material used in the hammer is 4 9{ mn/‘g}\ﬁa g 2l
(A) High carbon steel (A)Y 3= Frea &
(B) Low carbon steel (B) FH FeA Tel
(C) Stainless steel (C) B 9
(D) Mild steel (D) ;R-qma
During the British time in 1805, Haryana 1805 # fafew wret &, famon =1 31 wwii &
was divided into 2 parts, the larger and the IER S a1 T, S iR 9= | B W
smaller. The smaller part is termed as Fead ) e

_ _ N

(A) A351gan territory « M ﬁﬁq a4y ( A \w
(B) Administrative territory (B) wvmafas 3E] \._ T
(C) Political territory (©) Tfas ary
(D) None of the above (D) 3579 9 J rd 7
LetS=1{1,2 3, 4, 5,6}, E={1, 3, 5] then 1 Omg-
P(E L ___S = {1; o 3, 4, 5, 6}, FE = {1’ 3 5}?ﬁ

= P(E)-

1 1
A = (B) = ) ¢

3 - ™3 ®) <
&z D) n A

2 3 e 2

3%
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-

65. The portion between the point and the ! qige 11 i e b —
shank is called 65 s 2l _ .
(A) Body of a drill  (B) Tang Ay 1 i fg (g) -~
(") Flutes (D) None of thege () wE (D) i
| e I AT BRI % e WU
66. Which Mughal Emperor gave Kurukshetyy };G/ aﬂ]n’ﬂ] p _
of Harvana to Maratha ? femn T > 9T \
(A) Mohammad Shah @
B) Mirza Akbar (B) ﬁﬁﬁm it '
(q‘ 1r'ze . ar (©) m‘g‘ﬁ]’{ : )
() Alamgir (D) 3TEHE IR
(D) Ahmad Shah
¥ . h, HE 1 IeqTe g D
67. The process of producing from ﬁf ’ %_—I
coal called coal gasification. hEeTdl m ﬂi!:l \1 ta/
(A) LPG (B) Producer gas (A4) T - (B) L
() Natural gas (D) Syngas (©) Slliii?lili D
fram s I 3 fawfa
68. The idea of was developed by ﬁ‘ ;fg;b——-ﬂ
John Napier. ';W a
(A) Algorithm ;

. (B) Programiming
: (C) Logarithm

(D) Adding machine

69. AlllndiaRadioat___isthes stradio | §8 —— et 3@;'“ e gfemn F= FR )
station of Haryana. b ‘ZT)_'" t_i?,!i! ©IH & \ ’
A) Ambal (B) _.ohtak e B e __
o ’ (C) Fe& o R

(C) Kurukshetra (D) Hisar
70. A copper wire has diameter 0.5 mm and ;({ T el 3 a1 = 0.5 L. 3 yfqueehdl

resistivity of 1.6 X 10° Q m. What will 1.6 x 10 Q ¥, 31 38 IR A TG THH
be the length of this wire to make its SR 10 Q F & foe F e ?

resistance 10 € ? @) i 4 B 12‘%_‘:&

A) 122 cm (B) 122 m -
EC; 122 mm (D) None of these ©) 122 . (D) Sqﬁﬁ%ﬁ"ﬁ

71/. Choose the correct safety method during / ISt HRIH F A TE Esgeall fafa ‘;ﬁl

forging operation. ,

(A)glAlgways use the proper tongs (A) ;f;ﬁ g%ﬁﬂlaqgaﬂ LR 3f%m: ’?\%
according to the type of work F1 [\ ;

(B) Always avoid the use of damageq (B) @R 2evS =1 g Fft 4 H
hammers

(C) The anvil should always be free from (C) I & v Frerd e ft o @
moisture and grease while in uge a El ET%Q

(D) All of the above D) o

D -12-

Downloaded from www.cclcheE)ter.com




72.

73.

74.

-]
-l

717.

When the Ghaznavids invaded India

from the North-West, the dynasty ruling
Harvana was

(A) Tughlaq
() Pushyabhut;

(B) Guptas

(D) Tomara

A lowest number when divided by
32 leaves a remainder of 30. What is the
remainder when the same is divided by 97

A) 6 (B) 3

(M 8 (D) 7

The Harappan site Kailbangan is located
in the State of

(A) Rajasthan

(B) Gujarat

(') Himachal Pradesh
(D) Haryana

This dimee form of Haryana is
1 aogroup ol even numbe:

rehgious stories and folk

sed

]

P
¢\ Jhumar (B) atvai
(L Saang (D) Khoria

Ingredient of Moulding Sand

(A) Silica sand (B) Clay .
(" Water (D) All of the mﬂf
Singalila National Park is situated in X 7'{ Is
which of the following State 2 .
(A) Tamil Nadu
(B) West Bengal
(C) Karnataka
(D) None of the above
-18-
. -

1/2020 (22)
A TRt 3w Iw-ufrew W ewen
fﬂ%m,mmaﬂmnmﬁmwmmm
(A) grer B 1. (W A
© s (py A
){- U = e 98 32 8 a2 o S
30 3TN 2 | Afe 37 9@ Wi feran wve A Srwper
T g 2 /A \l,
A 6 (B) 3 \ \Y )
\198/ (D) 7 L
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D

Knglish Langunge

Read the following sentence to fid 4y
whether theve woany coror i b The opy,
Wy, will bein one part ol Che senito o
Mark of that part with creor e vy,
nnswer

He does/nothing but/

(A) (1
lottersg/in the corridar
() (1

In the following question, nosentonee bps
been gven i Active Voiee or Passive Vioieo
Out of the four alternatives suggostod
select the one which best exprosses (he
same sentence i Passive or Active Voiee

The storm did much damage.
(A) Much damage was done by the storm

(BB) The storm damaged much
. Much damage did the storm

(D) The storm was damaped

b

He speaks English, __ __ °
(A) does he

(B) is he o ]
(7 doesn't he ( } RV 4

(1)) dadn't he
Pick out the nearest cor
synonym of the words
PARADIGM
(A) solution
(BY model
0Oy discovery
(D) invention

cmeaning or
en below,

Choose the most suitable antonym of
the given word.

EXTRAORDINARY

(A) exceptional

(B) unusual

(C) dull

/h) plain

Wi

P,

i

Wi “"’

)n’.

a0 (22)

AL

Pt CALARAR L TIRIRCR
(A) e iy s )
(' wn (hy *nu

e U faur B, SUw st g

B L] /r :

(N 7 Wy 4/ )

() “e (13 440 0 and ot |
(et and Y fqeam, som, w4 014 a0 Wiy

e ¥, 0 oy b aea B /
(A) s w1y squia dn, - 4
TORERCIE DTS (11) gAH 1 Arh 4

whmrd\(m | ar P

YW L] |
@, “l"lﬁ {’E-‘ lr{g /
(L)) 1ML A2y BAH U wig A7

o wh e ) fooea senwafas v oo

A1 fam a1 garerny ¥

(A) A, (1y T,

() T, (1)) $An @ 18 A

farn # fomt w0 @ adur ava o wrd % w0

A1 F14 %1 A e, A e e k)

(A) A (L) aAuA /
(1) ufamry (1)) w1 a wrk i

/ /»

S #) oA g w1 (A /
(A) g w1 (13w | A ; )
(Cy THATE HET (1)) 548 @ w5t 4 :
faran fammm % e N ad

(A) = it

() = (1)) gl @ ard A
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